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MASTER OF COMMERCE
Term-End Examination

February, 2021

MCO-005 : ACCOUNTING FOR MANAGERIAL
DECISIONS

Time : 3 hours Maximum Marks : 100
(Weightage : 70%)

Note: Attempt any five questions. All questions carry

equal marks.

1. Explain different types of Accounting concepts
which guide the accountant at the recording

stage. 20

2. Explain the nature of cost. Classify the costs

according to areas of responsibility. 10+10=20

3. Describe the principal ratios which you consider
significant while interpreting the published
accounts of company and explain the inferences
which may be drawn from their use. 20
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4. Explain the concept of Budgetary Control. How
does it operate as a tool of management

control ? 8+12=20

5. (a) What is Performance Budgeting ? Explain

its objectives by giving suitable examples. 10

(b) M.N. Ltd. wishes to prepare a production
budget in respect of three products A, B and
C, the sales forecast for which is 83,200 units,
72,840 units and 88,400 units respectively.
The estimated requirement of inventory both
at the beginning and at the end of the budget

period are shown in the following schedule :

Inventory Schedule

Products

A B C

1-1-2017 (units) 16,000 | 12,000 | 20,000

31-12-2017 (units) | 20,800 | 11,160 | 27,600

You are required to draw up the Production

Budget. 10
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6. From the following Balance Sheet of P.Q. Ltd.
you are required to prepare a Schedule of
Changes in Working Capital and a Statement of

Flow of Funds : 10+10=20

31-12-2016 31-12-2017
< <

Building 50,000 50,000
Plant & Machinery 24,000 34,000
Stock 9,000 7,000
Debtors 16,500 19,500
Cash at Bank 4,000 9,000
1,03,500  1,19,500
Capital 80,000 85,000
Profit & Loss Account 14,500 24,500
Creditors 9,000 5,000
Mortgage — 5,000

1,03,500  1,19,500

7. Standard cost of product is :

Time : 6 hours per unit

Rate : < 4 per hour
Actual cost :

Production 1,500 units

Hours taken 7,600

Idle time (Hours) 400

Total Hours 8,000

Total Labour Cost amounted to T 40,000.
Calculate Labour Variance. 20
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8. “The effect of increase in sales price is to
increase the P/V ratio to bring down the
break-even point and to widen the margin of

safety.” Discuss. 20

9. What do you wunderstand by activity-based
costing ? How does activity-based costing differ

from traditional costing approach ? 10+10=20
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Hf S AT AT H AEIHRI hl ATIEIH
FLA B | 20

2. PG H Ypfd HI AR HINT | FREE Hegl
(&=1) % SATYR T AT o1 aiffetor hifST | 10+10=20
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4. &9 e i sumon f =ren Hifve | Tg
forg gohR Yererehid 501 & IURUr & ®9 U S
AT 3 ? 8+12=20

5. (%) Tisaer sSfém @=m 8 2 35 329 i 3hm
3TN <hl UgdT ¥ sRedT <hIfSU | 10

(@) w.w. fafies €= 3@ A, B aar ¢, fSaeht
forsht qaiqam shasr: 83,200 $TE, 72,840 3HTS

qAT 88,400 IH1S 7, & Tr-g H IcUTE &l

ST ITEd! & | Sole 379y o Y g 37=d °

hY (W) s SATHTHA SATERIhATE

STEE | gt T F
ey (WTeT) ST
KISl
A B C

1-1-2017 (3%) | 16,000 | 12,000 | 20,000

31-12-2017 (3%18) | 20,800 | 11,160 | 27,600

YRl IcqTed 91 dIR hET 2 | 10
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6. .3y, fafiee % ffiRea goq-o ¥ HEEta ot

H qiEdd I ST q HN Yaw foetw @R

EAE1E 10+10=20
31-12-2016 31-12-2017
T T
T 50,000 50,000
I F wei=d 24,000 34,000
@i (Teieh) 9,000 7,000
TER 16,500 19,500
S | Uhs 4,000 9,000
1,03,500  1,19,500
bl 80,000 85,000
AT @ 14,500 24,500
TER 9,000 5,000
THh - 5,000
1,03,500  1,19,500
7. T 391G hl HHH (JATY) NI Fead ® -
a0y - 6 |92 Jfd 318
g T 4 9fd guer
ITEdfereh AT
IcqTeH 1,500 Seh1gat
TIh TUe 7,600
= Ty (F0e) 400
Fel TUS 8,000
FA FH AT T 40,000 AT |
ST JEOT Shl TUAT il | 20
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8. “foshd Wou W T HoRAEY ANG-HET UG H
gfg & wafoesg fag & =+l it gramsdm =
foear g 7 |7 faa=m hifse | 20

9. foran-smuia wra-fuior 9 a9 = g9ed @ 2
fopan-enufi emma-fakor, wrwra amra-fFeto
3uTH ¥ form YR fie 8 2 10+10=20
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